Rode Heath Primary School: Week 5 Challenge day 4: Charlie Mackrory Year 2.
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Charlie completed the following maths first by mistake (he actually enjoys it than much ;o))
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Draw your answer.
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How many pens does Eva have? | 5
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Do you agree with Dexter? __NO

Explain your answer.
ofoyoxo i

ten=40





image6.png




image1.png
© 1omgong
@ 1think _they'Te  guing to walk to the park

© oy coutis_AUE et

@ ey piced ip_their

© There e
0 cone
@ There e
O vy

to the farm.

coats

t00 _ many people

here - said s smith

WO people on th swings

quiet

n the library

@ they coutdnt ___h€AT e noce

D) Thes i nt make

there

on time.

to too two

there they're their

there they're their
to too two
here hear
to too two
quite Quiet
here hear

there they're their

(7o o Ine 10 match the homophones and near Nomephanes correctly

The frst one has been done for you

bue be son  won see knight bear

bew night bee

bear  sun





image2.png
Charlie Mackrory

02 Desgn your own symmerical butterfly.
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Charlie Mackrory GY. Draw o butterfly that is not symmatrical





